Quiz 3 d

Show all your work. Reasonable supporting work must be shown for any partial credit.

1. Suppose a metal block is cooling so that its temperature (in Celsius) is graphed below,
where z is in hours.
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(c) [2] Newton'slaw of covlinig lets us know that the temperature of the metal block
is of the form De** but then vertically shifted. For this particular metal block AN
we know the exponential graph is 200 - 47%2%, but then vertically shifted. Find \)‘"J%W@
the algebraic rule for, the function graphed here.
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